
MATH I52
Mrs. Bonny Tighe

EXAM III
100 points
72,4-11.2
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There are 11 problems worth l0 points each.

l. Test the series for convergence or divergence. State the test you use and show all
work. Ifthe series is an Alternating Series, find if it is Absolutely or Conditionally
convefsent.

b) Use the Ratio Testa) Use the Comparison Test
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2. Test the series for convergence or divergence.
a) Use the Integral test

i & +
State the test used.

b) Use the Limit Comparison Test
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3. Express the function /(x) = coth-t(I'?) asa power series by first finding it's

derivativg f 
'(4 = =+,as a power series and then integrating. Find the interval of

l - r
convergence.
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4. Express the function as the sum of a porrer series by first using partial fractions. Find

tlre interval of convergence. 71x1=---=- rxz  +x-2  (1  +z) (  x - -  )
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6. Find the zum of the series. a)
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7. Find the Taylor series for (x) centered at the given value of a and find its radius of
convergence. /(x)=14x, centered at a=2
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I
J \x) = -F-

{ r f l
series of f(x) and its radius of convergence.

I
I" l' \
l - r  cP

l -  \ * -

l lz, f+ ,/
I r

- [ , . r ' r '  n - -  \
6

8. Find the Maclaurin
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e. exnana 
,# 

as a power series using the binomial series. State the radius of

convergence.
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10. Find the length of the curvg x = sn20, y = cosZt
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Find the radius and interval of convergence for the power series:

3 z'(x-r)" b) f(-l)"3x"' 
f, nln(n+l)
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